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Your task is to fit each of these words into the crossword skeleton Your task is to fit each of these words into the crossword skeleton
(each word will begin at one of the numbered squares) (each word will begin at one of the numbered squares)
THEN write out a clue for each word!! THEN write out a clue for each word!!
aluminium isolate particles aluminium isolate particles
bauxit e lead product bauxit e lead product
characteristic material rates characteristic material rates
cobalt melts react cobalt melts react
density nickel silver density nickel silver
ductile nitricacid unreactive ductile nitricacid unreactive

9E metals skeleton crosssword 9E metals skeleton crosssword



